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401 Al HI L 2T 50,000 30,000 20,000
01 A& HI 50,000 30,000 20,000
O HEAE HHl 20,000
—HESANE B S 20,000
O A E B & 20,000
O QEsN g7 82 48X S 10,000
405 XtabF SHI 35,000 40,000 A5,000
01 AL 2B F SHI 35,000 40,000 A5,000
O gIIeE RYA(NEE) 7,000,000& =5CH 35,000
HYYMNAZX NEKI2)HM(EX) 22,000 22,000 0
= 11,000
= 11,000
201 Bt A H| 22,000 22,000 0
= 11,000
= 11,000




2N
X ZH -
L= B

el

M= AL AL A

5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
03 A2 I 22,000 22,000 0
Of2us T2)dH 29 22,000
= 11,000
= 11,000
dEx "34 24 13,000 13,000 0
201 2Et2Hy| 5,000 5,000 0
01 AP 2t 2] H| 5,000 5,000 0
Odollz2 dE2=x &8 2|5 HE
1,000& *5,000% 5,000
307 giztol A 8,000 8,000 0
02 Q2B AMAIE E =X 8,000 8,000 0
OdlEx= IHAS s N 8,000
— o8 ZEME HSKE
400,000& *40™ *x50% 8,000
Sol2stl E24 d=2REUS 40,000 40,000 0
201 et 14,000 14,000 0
03 A2 | 14,000 14,000 0]
OHM128 ozt E24 REU3 29 14,000
301 Bt A= 6,000 6,000 0
12 JIEtE A& 2 6,000 6,000 0
OAN&2 6,000
307 gizto| A 20,000 20,000 0
04 CIZ2tSHALALSE B = 20,000 20,000 0
OHM128 Yozt E24 d=22EH3 29 20,000
BE24 80022 KANEAH HEA 35,000 76,730 AN41,730
201 et | 5,000 7,450 A2,450
03 A2 | 5,000 5,000 0
OE=4 80022 MHEANU=X 5,000
307 2iz2to| & 30,000 30,000 0
04 SIZ2ISHAAISH E & 30,000 30,000 0
OE24d 800clZ NHEANUEA 30,000
SF2Y M Jlet XM 30,000 0 30,000
CE2 NRHEEH =4 30,000 0 30,000
401 AlEHIZL £ 0HY| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OStZA MAMY EISEAEIA 24 30,000
HESAAH (HSAEASA) 49,660 52,660 A 3,000
Jle&ddl 49,660 52,660 A 3,000
Jl2dH(MEsALE) 28,660 31,660 A 3,000




HSAEAE A
HHSHAAH (MSAEAL A
Jl2 4l )
- - _ L=
SA BB (3H) - NRAY - B ﬁlgﬁ HRE2
201 Bt 8,840 ,840 0
01 AP 22| H| 8,840 ,840 0
O&NEY LBtxx=FH| 520,000 x12& 6,240
OZNSY S| 8,000 x13% x254! 2,600
202 o4 | 16,300 ,300 A 3,000
01 2L HI 16,300 ,300 A 3,000
OS99 0ol 20,000& x13¥ x5 1,300
O=W0H bl 20,0003 5 150 15,000
203 €2 F=&d| 3,520 ,520 0
02 EIPAH 2 =AY 520 520 0
OXFSIMHL2E=AH| 40,000 x13H 520
04 EASHEIRFAH| 3,000 ,000 0
OFNMSIERFEH| 250,000& x12& 3,000
JlE2dH(AZ=0tHE E) 12,000 ,000 0
202 044l 12,000 ,000 0
01 2L Y| 12,000 ,000 0
O=Wo | 20,0002 4 %150 12,000
Jl2ddl(d==g) 9,000 ,000 0
202 044l 9,000 ,000 0
01 2L I 9,000 ,000 0
O=2U0H| 20,000& 3 150 9,000
HEES(HSAEAGEA) 55,400 0 55,400
SRS DNES 55,400 0 55,400
=2 LH BEXZ Bt 55,400 0 55,400
802 Bt&t =2 DI E} 55,400 0 55,400
01 2DEX3Ete =2 55,400 0 55,400
OZ2HA HItE A A 3,000
OAEZ=MIAFREH EAMA 9,000
OHllZ282sd 2d A WA 40,000
OfIusmz ) 249 3,400




